Fort Bend County Tabulation Bid 13-075

Construction of Water and Sanitary Sewer Facilities at Kitty Hollow Park

Awarded: 8/6/13 : Statewide Services, Inc. Funding: Parks Department

Company	Total Bid	Completion Time in Calendar Days					
Statewide Services, Inc. Houston	\$427,760.00	not stated					
Allgood Construction Company Stafford	\$432,000.00	90					
AR Turnkee Construction Company Houston	\$517,821.75	not stated					
Proline Services, Inc. Kingwood	\$632,360.00	90					
Peltier Brothers Construction Houston	Disqualified: Failed to provide proof of insurance nor references.						

BID TABULATION FOR WATER AND SANITARY SEWER FACILITIES KITTY HOLLOW PARK FORT BEND COUNTY, TEXAS BID 13-075

BID DATE: 1:30 P.M., THURSDAY JULY 25, 2013

RECOMMENDED ITEMS TO BE AWARDED

	BASE BID	CONTRACT
BASE BID	 AMOUNT	DAYS
 STATEWIDE SERVICES, INC. 	\$ 427,760.00	NOT STATED
2. ALLGOOD CONSTRUCTION CO., INC.	\$ 432,000.00	90
3. PRO-LINE SERVICES, INC.	\$ 632,360.00	90
4. AR TURNKEE CONSTRUCTION CO, INC.	\$ 517.821.75	NOT STATED

	4. AR TURNNEE CONSTRUCTION CO, INC.			\$	517,821.75	ı	NOTSTATED											
ITEM	1		S	TATEWIDE S	SERV	/ICES, INC.	Α	LLGOOD CONST	RU	CTION CO.	PROLINE SERV	/ICE	S, INC.	Α	R TURNKEE CONS	UCTION CO		
NO.	DESCRIPTION QTY. UNIT		UNIT	UNI	IT PRICE		AMOUNT		UNIT PRICE		AMOUNT	UNIT PRICE		AMOUNT		UNIT PRICE		AMOUNT
PREF	PARATION, BONDS AND INSURANCE																	
1	Site preparation shall be considered incidental to the various items and no separate payment will be made for site preparation.	1	JOB	\$	-	\$	-	\$	-	\$	-	\$ -	\$	-	\$	-	\$	-
2	Mobilization, performance & maintenance bond and payment bond.	1	L.S.	\$	19,000.00	\$	19,000.00	\$	33,672.00	\$	33,672.00	\$ 22,500.00	\$	22,500.00	\$	15,000.00	\$	15,000.00
3	Clearing and Grubbing	1	L.S.	\$	11,000.00	\$	11,000.00	\$	18,000.00	\$	18,000.00	\$ 12,070.00	\$	12,070.00	\$	8,000.00	\$	8,000.00
	PREPARATION, BONDS AND INSURANCE SU	BTOTAL				\$	30,000.00			\$	51,672.00		\$	34,570.00			\$	23,000.00
SANI	TARY SEWER SYSTEM																	
4 4	Simplex Grinder Pump Lift Station Including Fiberglas Wet Well, Water Tight Hatch Cover, Pump, Rails, Piping, Check Valve, Plug Valve, Controls, Electrical, Electrical Cabinets, Grounding, Foundations, Slab, Conduit, Conductors, Breakers, Connection to Existing Electrical, Etc., Complete And Ready for Use	3	EA.	\$	27,000.00	\$	81,000.00	\$	45,960.00	\$	137,880.00	\$ 90,000.00	\$	270,000.00	\$	55,000.00	\$	165,000.00
5	1-1/4" PVC Force Main (Schedule 80) including Fittings, Bedding and Backfill (Schedule 80)	3,655	L.F.	\$	14.00	\$	51,170.00	\$	11.40	\$	41,667.00	\$ 14.00	\$	51,170.00	\$	14.85	\$	54,276.75
6	1-1/2" PVC Force Main (Schedule 80) including Fittings, Bedding and Backfill	1,910	L.F.	\$	15.00	\$	28,650.00	\$	12.00	\$	22,920.00	\$ 16.00	\$	30,560.00	\$	15.00	\$	28,650.00
7	1-1/4" PVC Force Main in Augered Hole (Schedule 80)	195	L.F.	\$	53.00	\$	10,335.00	\$	18.00	\$	3,510.00	\$ 22.00	\$	4,290.00	\$	30.00	\$	5,850.00
8	1-1/2" PVC Force Main in Augered Hole (Schedule 80)	140	L.F.	\$	53.00	\$	7,420.00	\$	21.60	\$	3,024.00	\$ 22.00	\$	3,080.00	\$	31.00	\$	4,340.00

BID TABULATION FOR WATER AND SANITARY SEWER FACILITIES KITTY HOLLOW PARK FORT BEND COUNTY, TEXAS BID 13-075

BID DATE: 1:30 P.M., THURSDAY JULY 25, 2013

ITEM	M STATEWIDE					SERVICES, INC.			ALLGOOD CONST	TION CO.	PROLINE SERV	/ICE	S, INC.	AR TURNKEE CONSTRUCTION C					
NO.	DESCRIPTION	QTY.	UNIT	UNI	T PRICE		AMOUNT		UNIT PRICE	AMOUNT		UNIT PRICE	AMOUNT		UNIT PRICE		,	AMOUNT	
_	TARY SEWER SYSTEM																		
9	4" PVC SDR 35 Sanitary Sewer Including fittings, bedding and backfill	420	L.F.	\$	30.00	\$	12,600.00	\$	25.80	\$	10,836.00	\$ 35.00	\$	14,700.00	\$	25.00	\$	10,500.00	
10	6" PVC SDR 35 Sanitary Sewer Including fittings, bedding and backfill	1,075	L.F.	\$	31.00	\$	33,325.00	\$	27.60	\$	29,670.00	\$ 40.00	\$	43,000.00	\$	27.00	\$	29,025.00	
11	4" PVC SDR 35 Sanitary Sewer in Augered Hole	220	L.F.	\$	63.00	\$	13,860.00	\$	40.20	\$	8,844.00	\$ 45.00	\$	9,900.00	\$	95.00	\$	20,900.00	
12	6" PVC SDR 35 Sanitary Sewer in Augered Hole	125	L.F.	\$	90.00	\$	11,250.00	\$	42.60	\$	5,325.00	\$ 65.00	\$	8,125.00	\$	105.00	\$	13,125.00	
13	4' Diameter Sanitary Sewer MH	3	EA.	\$	3,350.00	\$	10,050.00	\$	2,958.00	\$	8,874.00	\$ 3,800.00	\$	11,400.00	\$	3,800.00	\$	11,400.00	
14	Connect Proposed Sanitary Sewer Force Main to Existing Manhole	1	EA.	\$	1,250.00	\$	1,250.00	\$	1,200.00	\$	1,200.00	\$ 14,500.00	\$	14,500.00	\$	3,000.00	\$	3,000.00	
15	Trench Excavation Safety Systems	905	L.F.	\$	1.00	\$	905.00	\$	1.20	\$	1,086.00	\$ 1.00	\$	905.00	\$	1.00	\$	905.00	
16	All sanitary sewer force main and gravity sanitary sewer line fittings and restrained joints shall be considered incidental to the various items and no separate payment will be made.	1	JOB	\$	-	\$		\$	-	\$		\$ -	\$		\$	-	\$	-	
	SANITARY SEWER SYSTEM SUBTOTAL					\$	261,815.00			\$	274,836.00		\$	461,630.00			\$	346,971.75	

BID TABULATION FOR WATER AND SANITARY SEWER FACILITIES KITTY HOLLOW PARK FORT BEND COUNTY, TEXAS BID 13-075

BID DATE: 1:30 P.M., THURSDAY JULY 25, 2013

ITEM				STATEWIDE S	SERVICES, INC.			ALLGOOD CONSTRUCTION CO.				PROLINE SERV	S, INC.	AR TURNKEE CONSTRUCTION CO				
NO.	DESCRIPTION	QTY.	UNIT	UNIT PRICE		AMOUNT		UNIT PRICE		AMOUNT		UNIT PRICE	AMOUNT			UNIT PRICE		AMOUNT
	R DISTRIBUTION SYSTEM 2-1/2" PVC Waterline (Schedule 80)	7,100	L.F.	\$ 17.00	\$	120,700.00	\$	13.92	\$	98,832.00	\$	18.00	\$	127,800.00	\$	18.75	\$	133,125.00
18	2-1/2" PVC Waterline (Schedule 80) In Augered Hole	205	L.F.	\$ 55.00		11,275.00		19.20	\$	3,936.00		32.00		6,560.00		50.00	\$	10,250.00
19	1" PVC Waterline (Schedule 80) in Augered Hole	55	L.F.	\$ 54.00	\$	2,970.00	\$	16.80	\$	924.00	\$	10.00	\$	550.00	\$	45.00	\$	2,475.00
20	12" x 1" Tapping Sleeve and Valve	1	EA.	\$ 1,000.00	\$	1,000.00	\$	1,800.00	\$	1,800.00	\$	1,250.00	\$	1,250.00	\$	2,000.00	\$	2,000.00
21	All water line fittings and restrained joints shall be considered incidental to the various items and no separate payment will be made.	1	JOB	\$ -	\$	-	\$	-	\$	-	\$	-	\$	-	\$	-	\$	-
	WATER DISTRIBUTION SYSTEM SUBTOTAL				\$	135,945.00			\$	105,492.00			\$	136,160.00			\$	147,850.00
	TOTAL BASE BID				\$	427,760.00			\$	432,000.00			\$	632,360.00			\$	517,821.75
	TOTAL CONTRACT DAYS				N	NOT STATED				90				90			N	OT STATED